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Instructions

All questions are to be attempted.

Marks may be deducted for careless or badly
presented work. ' -
Answer all questions in the spaces provided.
Show all your working, - ”
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Q1 Functions, Graphs, Regions

() If f(x)=3+2x-x?, find
a.  f(2)

b S(-%)

2 fr x<0

- - e oy x
i 1€ /) {m o 220

a. | Find ‘
OGRS

(i) £©) .

b. Sketch the function.

'(ifi) On.separate number planes, draw neat sketches, showing important features, of the
following: |- ‘

a  y=(x-1)>
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a adl AN ranad

) %;O*
(iv) a.On one number plane, sketch yzx*+4x and y=x-2. Solve simultaneously to find
the points of intersection.

Q2 Plane Geometry /f?

(D) a. Provethat AABC is similar to ACDE, given AB| DE , AC=15, CE=25, DE=36

D35 ™ &

b. Hence, find AB.




NAME:_:t_
TEACHER:_

(i) In the diagram below, FGIl HI and JH=JL Prove that LFGH = LJIH, giving reasons.

F G

(iii) In the diagram below

a. Find x giving reasons.

b. Prove that TV bisects LUIW.

(iv) Find the value of x in the following, giving reasons.

Jo L

x+1 20
J e
'x—Z' - 12
7 eF

40f5
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Q3 Coordinate Geometry  /j2

(i) Inrectangle OPQR, S is the midpoint of QR. Prove OS =PS

1

(1) A(2 2), B(6,5), C(0,5) are the vz;twes of parallelogram A:BCD
a. Find the midpoint of AC &

b. Hence find vertex D.

(if) a Sketch the lines ABsand CD given the points A(-6,-1), B(4,5), C(0,-1) and D(3,6).

b. Find the gradient of each line,

c. Find the ‘-ngaimaﬁon of each line to the positive direction of the x-axis.

50f &5




Q1 Functions, Graphs, Regions /4

@ If S() =3+2x-x", find
a  f( = 3t2(2)-()?
= 3t4 -4
3"\{27 = 3
b. f(-x) = 3 +2(-x)-(-x)*
F(>) = 3-2x-x%

x2 jbr' )C<O |
(ii)Iff(x)={x+1 Jor 10

a, Find

@S- = (4)*
16

-—
-~
-

s O = p+1
= 1

b. Sketch the function.

22/t los
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(1ii) On separate number planes, draw neat sketches, showing important features, of the

following:
a  y=(x-17
b, y=vl-x*

7 nfs
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c y=1-x
('i,t;) \V‘ (o, ) 2
' (1,0)
+ /7_)7 g = ;_.xz
\L / .

(iv) a.On one number plane, sketch y = x2+4x and y=x-2. Solve simultaneously to find

the points of intersection.

X7_+4—>( = X-2

N ' X5 tax-n+2 =0

\ ' / AL +3x +2 =0
. (x+2 ) (x+1) =0
/ X=-2 X =-1

4 y=-4 y=-3
I s gnilaa) (1)

Q2 Plane Geometry /17
() a. Provethat AABC is similar to ACDE, given AB|| DE, AC=15, CE=25, DE=36

In A Ave &AD&E
L kB = LPCE (vw ppls =)
LAeC = Leog (at L5 of 1 lino =)
[ B = LCED (o s A 1 linwo =)

~ Adec I beoe (all rrep. Ls =)

b. Hence, find AB
L 2
36 20
5o i x3b
5
A =216

&
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Q3 Coordinate Geometry /'Ié%

(1) In rectangle OPQR, § is the midpoint of QR Prove OS=PS

) InAORS&KS " 50 [g s mudpt «{Q;z gth)
" K = Po pp @it Mf‘)l
+ + LR = 20 =9 (al] (e Hf Mot are f{;L§>
R1 N\ rg AorS = pspy (by SAS)

(i) A(2,2), B(6,5), C(0,5) are the vertices of parallelogram ABCD
a.  Find the midpoint of BE A< mex,, 4r)

A
! {) "(r = &1 =3 v
N 2 = (3,80
515
y, = ‘-—Z = g
b.  Hence find vertex D. )
QH-?\ - -‘_;--':i - D(X\ 97 . Q_
-3 e~
T T N T e
Xe wls 3 - Z f(l -
N2 = X*+2=¢ - v
(‘L',Z) ‘ @:g 7(:4 ‘D(‘f',g)
(i) a. Sketch the lines AB and CD given the points A(-6,-1), B(4,5), C(0,-1) and D(3,6) 2
At
b. Find the gradlentg;)f 2?011 line. mc{) _ c- (, ’) ) @_l
- Mag = % - 3-0) 3
- ’("’) - zﬂ = ‘-'7—
4*(%) >
c. Find the inch;a‘ﬁon of each line to the positive direction of the x-axis 2
- -3 [z
@AB‘M” (5> QC‘D: Hm (8)

= 3p°s%! or %oﬁ/é'

L End of Test --—-
Safs

= 66°4¢" 6 6. 8°

4-

0S= ps (arrup. Sidu of omg Ag =)
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(i) In the diagram below, FGIl HI and JH=JI. Prove that LFGH = £JIH. giving reasons. 2
v

F G

LvT = 2 Jn (baw /s ffwﬁ A=)
Lot = Lon (ah Ls §-] lina =)
- Lred = LI

(iii) In the diagram below ,
2

a. Find x giving reasons.
Exyax = Jo° (S\AMO l Ls add
Hp b 16D

Gx= I’
A= 200

Th Aurv, 180 £ 50+5 <%0 FLutv 3
Lutv =18 -5 =0
= 3
InAvIW, ffo = 20 +70 + LNTW
LV = 18 = =70
= 20°
LUTy = LW dhaifee 3V bigits LU

(iv) Find the value of x in the following, giving reasons.

b. Prove that TV bisects LUTW.

[\ W » (Fty of [k
v il 2 oA v Oi/vk mlrcrc(ftg
| 12 (xa1) =20 (%-2) i proporher
- g fox +12 = WA~ 4
x—2 12 IX-12x = 12 +40

] \ > §x = 52
4 - B
2

4 onf S






